= A
N = 0] &F AF S & AN A
20218 = 20l A LBFSH M A
SN AT E
Mz AT =
¢ dXelEHE X (chel & 9l)
- - _ L=
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
U x| H A 45,544,242 23,815,575 21,728,667
= 2,305,350
g 296,576
Jl 16,100
= 20,815,149
= 22,111,067
2 xe HE 3,152,624 3,286,264 A 133,640
= 385,350
g 296,576
= 259,316
= 2,211,382
adxelzs X 3,002,624 2,840,514 162,110
= 385,350
= 184,076
o 251,816
= 2,181,382
2 xtel X 12,520 30,000 N 17,480
201 et 12,520 29,000 A 16,480
01 AFR 2t 2| bl 10,000 6,000 4,000
Osta=x LXeldE 2 (28 & 29H|) 5,000
02020 st== ANz =XAH H & 3,000
Ost=x el sSeotl =3 g2 2,000
02 2224 H| 2,520 0 2,520
Ozl NES=EXNMdH &9
SAIHl 70 = 30,0008 = 12J0H€ 2,520
2322 A 1,721,000 1,685,945 35,055
101 121 H| 1,700,000 1,668,945 31,055
04 J|12ZtHIZ22NEES 1,700,000 1,668,945 31,055
O2Z22ZAY 2l A4 H| 1,700,000
201 LBt Y| 20,000 15,000 5,000
01 AP 22| d| 20,000 15,000 5,000
O2Z222 At XHAHOY 20,000
202 044l 1,000 2,000 A 1,000
01 2L Y| 1,000 2,000 A 1,000
OZ222 =AY 0 Hl 1,000
NE2SH LAl At 380, 152 303,612 76,540
g 184,076
== 36,815
= 159,261
101 Q124 H| 368, 152 288,612 79,540
= 184,076
= 36,815
= 147,261
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el

SBVEIE-EIPN
Azl #s
AXf2 HE X

SN ZH-S(SA) - HRAY

ESS

0l &t o

=

i
2m

04 JIZtN 22 XS+

OXdssHL e

A&

re
e
(=3

HH M

368,152

368, 152
184,076
36,815
147,261

288,612

206 M= Hl

12,000

12,000

01 M= dl

OXNEZSHIlAE =& M

12,000
12,000

12,000

ANEHA LRl AL

MW

240,000
120,000
24,000
96,000

240,000

MW

235,200
117,600
23,520
94,080

235,200

04 JIZtNZ22XNSE+

OXSHAUTIeI ALY 28]

Mo

235,200
235,200

117,600
23,520
94,080

235,200

206 M= Hl

Mo R

4,800
2,400

480
1,920

4,800

01 M= dl
OXggAaadXtel At M4l

Mo A

4,800

4,800
2,400

480
1,920

4,800

EUNE

8,000

3,200
4,800

8,000

307 glz2tol &

Mo

8,000

3,200
4,800

8,000

M H

8,000
8,000

3,200
4,800

8,000

MW

330,700
145,260
92,720
92,720

330,700

H

25,000
12,500

25,000
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kel ¥E
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SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

M

6,250
6,250

01 Al 2&8H =062

OXd #4Y NI22 ZZ2NE(FEZF)

MW

25,000

25,000
12,500
6,250
6,250

25,000

307 glztol &

HH W

305,700
132,760
86,470
86,470

305,700
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o
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=
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Mo H

305,700
305,700

132,760
86,470
86,470

305,700

>
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0

r
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rx

Mo A

204,652
78,840
62,906
62,906

345,212

A 140,560

308 AHXIEHHMSO0IE

MR

204,652
78,840
62,906
62,906

345,212

A 140,560

A=)
1=
oin
2
2
ra

O w
>
o
]
im
O
4o
rx

Mo

204,652
204,652

78,840
62,906
62,906

345,212

A 140,560

U RN

105,600
41,250
32,175
32,175

105,600

307 gIztol &

U AT

105,600
41,250
32,175
32,175

105,600

=
e
~
o
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>
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H
FA

O
=
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i
o
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=
Mo
RS
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>
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MW

105,600

105,600
41,250
32,175
32,175

105,600

AR EEM 283

A A

150,000
112,500
7,500
30,000

445,750

N 295,750

A RIS S (LR HE ME)

150,000

445,750

N 295,750




R IR =PRI R B

kel ¥E

X ZH
S =

S AL EEN 243

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Fag 112,500
& 7,500
= 30,000
307 2iz2to| A 150,000 445,750 A 295,750
Fag 112,500
& 7,500
= 30,000
02 QIZ2FA AAIE E X 150,000 445,750 A 295,750
O(HHINAIE &Y LXeIaE KA 150,000
= 112,500
= 7,500
= 30,000
XA H 2 4,347,688 1,416,338 2,931,350
= 1,920,000
=} 360,000
= 2,067,688
HEANEEH S 516,640 578,040 A61,400
& 180,000
= 336,640
HNEANE SHIMA 144,640 106,040 38,600
101 2121 d| 42,000 37,800 4,200
04 JIZ2tHI22XNSE S 42,000 37,800 4,200
OFSAIE o8 42,000
—~HEANF B4 Y FXE el ARy
3,500,000& = 123 42,000
201 et d| 52,640 48,240 4,400
01 A2t 2| bl 52,640 48,240 4,400
O S AIZ 22 41,540
~HENF UFEY AYLLE
320,000 = 123 3,840
~HENT LS9
330,0008 * 504 = 103 16,500
—HSAEW StE=HXN HA
4,000,000& = 23| 8,000
— &It e 570,000 = 123l 6,840
— AgtotM e & 530,000& = 123 6,360
OFEANE A2E 2
200,000& * 6IHA * 63l 7,200
OFEANE HIILZ 15,0008 » 3 A = 128 540
OFSANE SEdE S2IAIE otd2e] el
280,000 ~ 12& 3,360
206 M = dl 30,000 0 30,000
01 X2 bl 30,000 0 30,000
OZZLI9 e MEAHE HE OtA3 ¢
600 * 50,0000H 30,000
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X ZH -
L= B

el

2 Xtel ¥ Al
ASFH 2l
dSANETEH3

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 20,000 20,000 0
01 Al&H| 20,000 20,000 0
OFEANE A4 JHE2 10,000,000 = 2J0 A& 20,000
HEANZE AES U (HE) 300,000 400,000 A 100,000
& 180,000
= 120,000
401 AlEHIZL 2 0HY| 300,000 400,000 A 100,000
& 180,000
= 120,000
01 Al& H| 297,840 389,560 N91,720
Osl=1DQSHEAZ OIHOE &EXN(KNEHE
=) AtY 297,840
& 178,704
= 119,136
03 Al 20| 2,160 2,880 ANT20
O3sl=DESMEAZ OIHOE &AXN(KEHE
Z=)AFE 20| 300,000,000 = 0.72% 2,160
= 1,296
= 864
NEANE 43 72,000 72,000 0
307 giztol & 72,000 72,000 0
02 QIZ2IA AAIE E X 35,000 35,000 0
ONEANE HESS(EQRXEH) 249 35,000
04 SIZ2ISHAAISHE E X 37,000 37,000 0
OFSANE 282 Y A ARAE 37,000
NEAH 2l 3,831,048 838,298 2,992,750
= 1,920,000
& 180,000
= 1,731,048
NEEH 22 1,979,740 467,230 1,512,510
= 720,000
= 180,000
= 1,079,740
201 Bt 1,979,740 462,610 1,517,130
= 720,000
== 180,000
= 1,079,740
01 AP 22| H| 1,979,740 462,610 1,517,130
Osl=AMeAEA 779,740
—SHEANTNED BHUHBEE 222
31,500,000,000& * 1% 315,000
—St=AIASA HA 100& * 3,000,000& 300,000
& 180,000
= 120,000




R IR =PRI R B

3 NSFH 22

&2 XSFH 2el (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—StEMEASE ZelAAE XS
490,000& » 2601 2 12,740
—St=MELEEE BE22 S MH 20,000
—S=AEIE 2 2 132,000
OStEMAZTH SOATHIIXA (2 6%)
12,000,000,000& =* 10% 1,200,000
= 720,000
s 480,000
StEAZASA SolE XA (=4l 8%) 1,500,000 0 1,500,000
= 1,200,000
s 300,000
201 Let249H] 1,500,000 0 1,500,000
= 1,200,000
s 300,000
01 At 224l 1,500,000 0 1,500,000
Ost=At2A4EA Sl B0 X (=4 8%)
15,000,000,000& = 10% 1,500,000
= 1,200,000
i 300,000
L4300 OIXHXI&A 250,900 350,900 100,000
201 2et24d] 900 900 0
01 At 22l 900 900 0
O2a30 0IMEH S A
0,000& = 1501 =13l 900
307 21201 A 250,000 350,000 100,000
08 OIXt2& = 250,000 350,000 2100, 000
Oaat3el Ol RXI& 250,000
=Jt2tel 20,408 20,168 240
101 @14 Hl 16,800 16,560 240
04 JIZHHZ2XNHESE S+ 16,800 16,560 240
OSIEZARA 12
70,0008 = 4% * 53] » 12& 16,800
201 Let249] 3,608 3,608 0
01 At 22l 3,608 3,608 0
OZE (4 ,£4)28012td 2 HAZAMN EE2S
SIES 70,000& * 4004 * 23] 560
OSJttH & & ==9 X
60,0003 = 3 + 23 360
OZBII2AYL MYIIZE X &
920& * 1000H » 14004 » 13 1,288
OsIIALA ClHEE XA
100,000& = 14004 = 13l 1,400
2830 54 2 X 80,000 0 80,000
306 =43 80,000 0 80,000




E Y BT EIE-E PN
M XEAHM 22l
el XNEHH 2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 52 80,000 0 80,000
O Esid 25 K& 80,000
==X E 20,000 83,333 AN 63,333
= 6,000
= 14,000
sSAESXEIH 20,000 83,333 A 63,333
= 6,000
= 14,000
MNEasstE2 252 FHl N 20,000 83,333 AN 63,333
& 6,000
= 14,000
307 2iztol & 20,000 83,333 AN 63,333
&< 6,000
= 14,000
02 QIZFA AAIE E X 20,000 83,333 63,333
OlEsdtE8 =22 FHl N 20,000
= 6,000
= 14,000
MAX = 35,549,100 17,051,500 18,497,600
= 20,170,000
= 15,379,100
NS g4 35,549,100 17,051,500 18,497,600
=} 20,170,000
= 15,379,100
EAJ|Y XN (MEAIY) 342,600 288,500 54,100
306 542 97,800 128,500 A 30,700
01 &3 97,800 128,500 A 30,700
OsAJ|gsdlla 892 97,800
308 AHXIEHSOIA 244,800 0 244,800
11 BI2SUHUEHEAEAE AT Y| 244,800 0 244,800
OADIEZR 2= XN (2IIREXH)
21,000,000& * 404 D1 84,000
OSZHX JYAEY Satae X
5,000,000& = 8JH D1 40,000
Ogeeatd A0 84 A
5,200,000& = 404 D1 20,800
OAEIY SHAMY 100,000
SAIY EXNSX 21,000 23,000 A 2,000
201 B9 10,000 12,000 A 2,000
01 AP 22| H| 10,000 12,000 A 2,000
OSTRX L WHAST 222 HE
5,000& * 1,0000H * 23] 10,000
202 04| 5,000 5,000 0




XH Al

2N

EDNFI SRS
Hu: MUFE
Sl XY B4 CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 5,000 5,000 0
O=3UJIY ENsX &S
100,000& = 2H = 103l 2,000
O3l 22 ZYLHY L VI B2
100,000& = 3 = 102 3,000
203 YR =&l 6,000 6,000 0
03 Al F=XH R =AY 6,000 6,000 0
OFXRX & AHYR FZ 6,000
MEolor AdyH XA 195,500 300,000 A 104,500
306 3 195,500 300,000 A 104,500
01 &3 195,500 300,000 A 104,500
OdESotHAAME 23l 195,500
HAMY E7 243 450,000 470,000 220,000
< 200,000
[ia 250,000
307 21201 A 450,000 470,000 220,000
< 200,000
s 250,000
02 ItFAAHEX 450,000 470,000 20,000
OUWAEIEAHs IS MA 20,000
O=H L3 dZXY Mzl 30,000
02021 st==HMHA LS IH X 400,000
< 200,000
s 200,000
HASOAZAET HBMUALRZAMY(HE)(HE 2,500,000 5,500,000 A3,000,000
AH)
< 2,500,000
402 RIZEX201 A 2,500,000 5,500,000 23,000,000
< 2,500,000
02 RIZEXt 2 AL EZ (01X TS ) 2,500,000 5,500,000 23,000,000
OFASAUEZAZ HEYHMAAERSAIY 2,500,000
< 2,500,000
HANZ XIE &dgst Dz EHE ASAH (HE)( 7,000,000 6,000,000 1,000,000
HEAY)
< 4,550,000
e 2,450,000
402 RIZ2FX201 A 7,000,000 6,000,000 1,000,000
< 4,550,000
fia 2,450,000
02 U2 THEALEZ(0IETHR) 7,000,000 6,000,000 1,000,000
OHIANE X2 &S Iz XS A=A 7,000,000
< 4,550,000
[ia 2,450,000
BHAOHE JISXAUE FEMS(2IHEEX) 1,100,000 0 1,100,000




SN AT E
M MHAES
el NaY g4 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
== 1,100,000
402 QI2F X2 0| & 1,100,000 0 1,100,000
= 1,100,000
02 BIZEXIEANYEX(0IETHH) 1,100,000 0 1,100,000
QUMM I| =X JME 2EAML(2IIAE XA
) 1,100,000
== 1,100,000
SIME S 02 Al ATHHEY 2 425 & 1,380,000 1,420,000 AN 40,000
= 690,000
= 690,000
307 QI2+OI & 1,380,000 1,420,000 40,000
= 690,000
= 690,000
02 B AMAIEE =X 1,380,000 1,420,000 AN 40,000
OZEJIME Sci HIOIQ A ATHIHY A=23) 1,380,000
o= 690,000
iy 690,000
S22 I8 NEXZH a5 SEE 2SAY 4,500,000 2,000,000 2,500,000
(&) (e A2)
= 4,500,000
402 SI2FXFE0| & 4,500,000 2,000,000 2,500,000
= 4,500,000
02 BIZEXI2 AN EX(0IETHH) 4,500,000 2,000,000 2,500,000
O&E=sE2 Il NHHEXZ2H Ss5HI B
AEAE 4,500,000
= 4,500,000
PRI BYE ASAY(ZNHEX) 16,510,000 0 16,510,000
= 5,895,000
= 10,615,000
402 QI2H X 20l & 16,510,000 0 16,510,000
= 5,895,000
= 10,615,000
02 BIZEXI2 AN EX(0IETHH) 16,510,000 0 16,510,000
QUAEXZ EHE A=A (ZII2ZIH) 16,510,000
& 5,895,000
= 10,615,000
HOIQEAHN AEEY JlsAst X& 400,000 0 400,000
& 400,000
307 QI2t0| ™ 400,000 0 400,000
= 400,000
02 Q2B AMAIEE =X 400,000 0 400,000
OHIOIQLEAHN AEIEY JI=AES K& 400,000
o= 400,000
HCOUI0IQO % E ARSI KR A S ALY 700,000 600,000 100,000
= 200,000
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XH Al

LRl Z A
Hu: MUFE
el XA 84 CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 500,000
402 RI2EX20| A 700,000 600,000 100,000
< 200,000
s 500,000
02 QIZEHEAIL B (01X S) 700,000 600,000 100,000
O&EHHIOIQYAE AR B2t 700,000
< 200,000
[ia 500,000
MY QANEST SSAHAZAS (A XE) 450,000 450,000 0
< 135,000
[ia 315,000
307 21201 A 450,000 450,000 0
< 135,000
[ia 315,000
02 QIAHFAAFEX 450,000 450,000 0
OAME JAMLET SSHPAML(SHEEX
) 450,000
= 135,000
s 315,000
MG 2 2 2F 1,647,120 128,120 1,519,000
MHSR =H L 2L 1,647,120 128,120 1,519,000
Aead e 2eledg 147,120 128,120 19,000
201 LBt2d| 26,120 27,120 A 1,000
01 At 2t 2l 2,000 3,000 A 1,000
OLEI 258 =2
1,000,000& * 200 £ 2,000
02 23224l 24,120 24,120 0
Ol 223 24,120
—&JIe3 200,000& = 12& 2,400
— N33 10,0002 * 12& 120
—HEQIMAAE S22 S|
1,800,000 * 12& 21,600
401 Al BIZ 201 8] 121,000 101,000 20,000
01 A&l 120,000 100,000 20,000
O&ACR S 2el 120,000
— 52 UM 20,000
—HdFA &4 2,500,000& = 23] 5,000
- 38 ,=X A& 15,000,000& * 23| 30,000
—ANE=E SX2e 35,000
-2+ ¥ = 2el
15,000,000& =* 22| 30,000
03 Al 20 HI 1,000 1,000 0
O&H R S22l 1,000




YRR EIE-E PN

=2
HE: M4SN X4 g

& ¢ 2 2H
el ARICHT] ZA Y 22 CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= olor M2 HCEHR =4 1,500,000 0 1,500,000
401 Al HI K 201 I 1,500,000 0 1,500,000
01 A& Bl 1,492,500 0 1,492,500
OMEoIer HosddHX =4 1,492,500
03 A& S THHI 7,500 0 7,500
Od=oer MasdHdetX 2d
1,500,000,000& * 0.5% 7,500
HUX+==2td 767,710 1,788,020 A 1,020,310
J| 16,100
< 19,833
e 731,777
Ol L Xl &b 2tel 767,710 1,788,020 A 1,020,310
J| 16,100
< 19,833
s 731,777
SN HABE 675,000 1,600,000 A 925,000
402 RI2FX=01 M 675,000 1,600,000 A 925,000
01 2I2E 2 A B (KM ) 675,000 1,600,000 A 925,000
Ozt TAIA B2AY 675,000
ATHEHUHX E=S AL 51,110 46,000 5,110
< 15,333
e 35,777
402 RIZEX201 ™ 51,110 46,000 5,110
< 15,333
e 35,777
02 RIZt Xt 2 AL EZ (OIS ) 51,110 46,000 5,110
OAMEHUHKNES =HXHAAS 51,110
< 15,333
s 35,777
HAAHAS MHX=X 23,000 58,600 /35,600
J| 16,100
s 6,900
401 AIEHI L 2CHYI 23,000 58,600 235,600
J| 16,100
[ia 6,900
01 A& Bl 23,000 58,600 /35,600
OFHAANE HXI= X AL 23,000
J| 16,100
e 6,900
NEIE AN EX ES A 15,000 0 15,000
< 4,500
s 10,500
308 XX EHH SOl 15,000 0 15,000
< 4,500




2N
SV IEPAE=gelgs

el

X ZH
S =

SBVEIE-EIPN

Ol Rl ated 2tel

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
o 10,500
11 2I2SHUSHEAERAEASH] 15,000 0 15,000
OKNBIE JIACHHAEX BE2ALY 15,000
= 4,500
= 10,500
X el 3,600 3,600 0
201 et | 600 600 0
01 AP 2t 2] H| 600 600 0
OludXIE 22235 M
60,000 * 5J0 A = 23] 600
202 044 3,000 3,000 0
01 2L Y| 3,000 3,000 0
ONMUXIANE (AR, JIA, EHSZ) otdzz] Y
NedEE =8 100,000& * 3% = 103 3,000
HESHAL (LRI A 60,000 62,000 A 2,000
=244l 60,000 62,000 A 2,000
Jl2 &l 60,000 62,000 A 2,000
201 LBt ]| 38,000 32,000 6,000
01 AP 22| H| 38,000 32,000 6,000
Ogttdi|(BM2Y9) 22,000
OSgH(BEA2Y9) 16,000
202 o4 | 22,000 30,000 A 8,000
01 2L I 22,000 30,000 A 8,000
OZ2UHAbI(BA2Y) 22,000




